PH112  PHYSICS II

Homework II- Solutions: 






CHJ

Chapter 9: 57, 63, 77;
  Chapter 10: 3, 12, 36, 47

9-57.  
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9-77.  a)  The initial moment of inertia is  I0 = ½ MR2.  The piece punched has a mass of  
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M

 and a moment of inertia with respect to the axis of the original disk of 
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                  The moment of inertia of the remaining piece is then
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10-3.  Taking positive torques are taken counterclockwise, (out of the page),                     
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             with the direction counterclockwise (out of the page).  Note that for 
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t

, the

              applied force is perpendicular to the lever arm.

10-12.  This is the same situation as in Example 10-3.  a)                        
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  c)  There   
            are many ways to find the time of fall.  Rather than make the intermediate 
            calculation of the acceleration,  the time is the distance divided by the average 
            speed, or 
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   d)  The normal force in Fig. (10-1-9(b)) is the sum of 
            the tension found in part (a) and the weight of the windlass, a total of 159.6 N 
            (keeping extra figures in part (a)).
            

10-36.  Let
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              Then, from Eq. (10-33),
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10-47. a)  
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b) From the result of part (a), the power is 
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c) 
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d)  From the result of part c), the power is 
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  e)  No; the

                  power is proportional to the time t or proportional to the square root of the 
                  angle.
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